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- Instructions

* This test has 40 questions. Look at every page and read the questions carefully.

* You have 60 minutes (native English) / 70 minutes (non-native English) to complete the test.
If you finish early wait silently until time is over. There will be a short evaluation afterwards.

* Each question is multiple-choice. Choose A, B, C, or D. Only one answer is correct.

* Some questions contain a short video clip or audio fragment. These are indicated by this icon:@.
Click inside the video frame to start it. B | B

 |f there is sound involved in the question, it is indicated by this icon: ‘)))
Please check if your headset is working properly with this test file:

* Mark your choice on the answer sheet by making a circle around the letter that you want to select.
If you make a mistake cross the selected letter and circle a new choice. If you believe there will be
any confusion, also write the letter of your answer next to the question number.

* For navigation it is best to use the arrows on the keyboard to move the te next ({, =) of previous
(P €) page. DO NOT CLICK ON THE ESCAPE BUTTON, AS THAT ENDS THE PRESENTATION.



oJ1i I In what country were these photographs taken?
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m Which key corresponds to this map showing the wettest months of the year?
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m Banknote Mountains. Which mountain has been shaped by karst processes?

INTYsemsiy
03 Coer e

'r.f Al ;




m What is the unit of time in the legend of this map showing human mlgratln'-'
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m A world of clouds. Where is city of Québec (Canada) located?
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CLOUDS ON FULLER PROJECTION
AIR-OCEAN WORLD DYMAXION MAP

pencil drawing after satellite images.






This ship is visiting the volcanic Island of Stromboli on a weekly base from Naples,
Italy. What is most likely being transported by this ship?
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Which of these four shortcuts in the rock cycle is geologically least likely?
Rock Cycle in Earth’s Crust
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ROCK
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Mean age at childbearing (years)
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What is depicted by these food production maps on moving globes?

\%i E feed vs food food production gap




What natural element has destroyed the city on the video?
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Which image relates best to the graph on the next slide?
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ok I Which reservoir is closest to the “Day Zero” cutoff on April 12 and why would this
be the most concerning to the City of Cape Town?
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Q14

I Sub-Saharan Africa
Urbanisation and income -
Change between 1985 and 2010
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Which combination of phenomena caused snowfall and snow blizzards in the
northern coast of Iran?
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Q19

Index of Number of MNative Languages
Linguistic Diversity =~ Spoken Languages  As Percent of All
in Each Country Spoken Languages
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No Data )
9-30

MEDCs = more economically developed countries
LEDCs = less economically developed countries

Linguistic Diversity Around the World



m What was the endpoint of this geographer's cycling tour?

START




Service structures for 4 sites in El Raval, an inner-city area of Barcelona (Spain).
What is the correct place of Site 2 in the triangular graph?

El Raval Service Structure

Service Site 1 Site 2 Site 3.
60

% gentrification 11.4 3 0
% immigrant services 5 15.2 20 50
% other local services 35 73.4 76 50
Total 100 100 100 100

100
0 10 20 30 40 50 60 70 80 90 100

% immigrant services




m The sound of geography. What phenomenon is captured by the sound?

40
<)



olPX Il All images show the effect on rainforest of:




m What are the coordinates of this airport?
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m This graph is an example of:
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m What pattern is shown on this map?

low/small values high/big values



Which cause of death is indicated by the colour red?

Percentage distribution of deaths by group of causes and
life expectance at birth, Chile, 1952-1992 and 1995-2005.
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m What is shown by this dynamic map?
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m Which image relates best to the concept of ‘black tourism’?
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What is this rather common activity in temperate zone wetlands (especially in
swamps in protected areas) on the photo?




m Geologists in 2017 defined a new continent: Zealandia. What argument could be

used to consider Zealandia as a new continent?
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m Which feature makes parts of the Kosrae Island (Micronesia) capable to withstand
an extreme weather event (‘no severe impacts’ on the map)?

Impact of extreme |
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weather events

@ No severe impacts
Moderate impacts |

@ Severe impacts




July 13th 2018 record: 205.468 flights in 24 hours

CO, emissions from passenger transport MMW#
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m Which economic sector do many small island states rely on to bring in foreign
exchange income?

Small Island Developing States EEREIIDERIRdeI#-1|
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m What is the correct order of names of these indigenous peoples from left to right?




How might the conflict depicted in the cartoon be related to your everyday life?
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m These maps of religious population are, in alphabetical order,: atheist, buddhist,
christian and muslim. Which map shows the atheist (non-religious) population?
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This isochronic map shows travel time from London for:
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- The last slide

* You have reached the last slide of the Multimedia Test.

* Click on the arrow (4" €) to go back to the previous page(s)
if you want to check your answers.

* For fast navigation:

Click here to go back to question 1

Click here to go back to question 10. Wait silently until the time is over.
Click here to go back to question 20 DO NOT CLICK ON THE ESCAPE BUTTON,

Click here to go back to question 30 = AS THAT ENDS THE PRESENTATION.

* Please remain seated after your answer form has been picked up. There will be a
small questionnaire on paper to evaluate the 2018 MMT. Your answers will help to
improve future MMTs and won’t influence your score in any way.



H3A¥ W What is the chronological order of these geological layers (A-D) and fault (E)?

RESERVE QUESTION 1

YOU WILL BE TOLD IF
ANOTHER QUESTIONS IS
SUBSTITUTED BY THIS
QUESTION DURING THE TEST




m To which place does this schematic seismogram belong?

RESERVE QUESTION 2 Earthquake
YOU WILL BE TOLD IF ANOTHER QUESTIONS IS
SUBSTITUTED BY THIS QUESTION DURING THE TEST
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